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IBM 000-085 : Practice Test

Topic 0, A
A

Question No : 1 - (Topic 0)

What components are needed to access the internal storage on a BladeCenter S?

A. Optical Pass-Thru Module and one SFF FC adapter per blade

B. One iSCSI adapter per blade

C. SAS Connectivity Module and one SAS expansion card per blade
D. Integrated internal storage adapter

Answer: C

Question No : 2 - (Topic 0)

A customer deploys an IBM BladeCenter chassis with one Brocade 4Gb SAN switch
module. The customer requires a 4Gb uplink or higher. Which configuration will meet this
request?

A. Brocade 20-port 4Gb SAN switch module and Brocade ISL Trunking for IBM
BladeCenter

B. Brocade 20-port 4Gb SAN switch module and Brocade Advanced Performance
Monitoring for IBM BladeCenter

C. Brocade 10-port 4Gb SAN switch module and Full Ports on Demand license

D. Brocade 10-port 4Gb SAN switch module and Brocade Advanced Performance
Monitoring for IBM BladeCenter

Answer: A

Question No : 3 - (Topic 0)

A customer wants to implement the following solution:

-- seven HS22 blades
-- Six LS42 HE blades with Multi-processor Expansion Unit
-- one 1U external Fibre Channel switch

-- two 3U Fibre Channel storage devices with fourteen 146GB drives
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Which of the following is the minimum amount of rack space required to implement the
solution?

A. 13U
B. 16U
C. 22U
D. 24U

Answer: C

Question No : 4 - (Topic 0)

A customer wants to deploy around 8TB integrated storage on a BladeCenter S. Which of
the following meets this need at lowest cost?

A. With iSCSI.

B. With SCSI external storage.
C. With SATA internal disks.
D. With SAS internal disks.

Answer: C

Question No : 5 - (Topic 0)

Which option is a good reason to implement the IBM BladeCenter H chassis over IBM
BladeCenter E chassis?

A. support for 10Gb internal network

B. better rack space density per blade

C. lower power consumption per chassis

D. support for 4Gb Fibre Channel Switch Modules

Answer: A

Question No : 6 - (Topic 0)

How can you update the firmware on the Advanced Management Module using
UpdateXpress?
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